938 (K9a30)

Linearized knot diagam

7T 5 8 2 9 3 1 6 4

-
N TR
- S

Solving Sequence

5’9 I 376 — 7 2 1 4 8 C3,C7,C9
Cs Cg

A knot diagrarrﬂ c2 c1 C4 €]

Ideals for irreducible component#ﬂ)f Xpar

I = (—u' — 2u° — 50® — 110" — 14u® — 20u° — 23u* — 16u® — 13u® + 4b — 4u + 1,
u'® 4+ 20 + 5u® + 1107 4 10u® + 120° + 15u* — 7Tu? + 8a — du — 9,
w4+ w0 4 3u® 4 6u® + Tu” + 10u’ 4 110° + 9ut + 9u® 4 3u? 4+ 3u + 1)

IY = (20020u'” — 48508u'® + - - - 4 11959b — 19142, —16736u'” + 499701 + - - - + 119594 — 645,
u® —3u o —2u+1)

Ify=0b+1,2a+1, u—-1)

* 3 irreducible components of dim¢ = 0, with total 30 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I.
I = (—u'®—2u?+-...+4b+1, u'®+2u+..-+8a—9, u' +u'®+-.-4+3u+1)

(i) Arc colorings

o ()

0
ag = \u
— 2l — 2w+ lut 2
az = fu10+fu9+.. +u— 1
1 2 1
1
a6: u2
1,10 1,9 7 1
B T S RN S
= N —gu — gt —guty
1,10 | 1,9 3, 47
= §1u10+11u9—|—---+§u+1§
2= \quitguttu—g
1,10 , 1,9 7, 4 15
gU T gu A+t qu+t g
N A R A
8 r 2738
3,10 | 3,9 5, 4 13
T s T
a4 = zU +§’U/ + - +U—1
u
ag = \u?+u
u
as = \ud+u
(ii) Obstruction class = —1

(iii) Cusp Shapes

_ 27,10 , 13,9 23 8 41,7 37,6 7,5 _ 13,4 3_ 3,2, 31, _ 181
=—fu t3gu 16U U tgu +gu Tou +Tu 6+ TU— T



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, %5, Z w4+ ut 300 + 60 + Tu” + 1008 + 1108 + 9ut + 9ud 4 3u® 4 3u + 1
Co,Cy ut =30 + uf + 40" — 208 — w® + 100t — 5u® — 16u? + 9u + 4
€3 ut —3u . —6u+8
Cg, Co 2(2ut + ' — 3u® 4 1107 + 2u® — 140° + Tut + 6u® — 5u® + 1)




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
LTy 510 4 11y° 4 8y — ByT + 47y° + 8Ty + T3y + 2757 + 3y — 1
Cs
Ca2,Cy yt — 6yt 4+ 209y — 16
€3 y" + 3y + -+ 52y — 64
C6; C9 Ayt =y -+ 10y — 1)




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1C)

Cusp shape

u = —0.361784 4 0.9629241
a= 0.42885 —1.903111
b= —1.019420 + 0.9049211

0.53843 + 4.575391

—8.21994 — 7.999451

u = —0.361784 — 0.9629241
0.42885 + 1.903111
—1.019420 — 0.9049211

0.53843 — 4.575391

—8.21994 + 7.999451

—1.186630 + 0.3552101
0.360998 + 0.0038031
0.988348 + 0.2229651

—3.44203 — 0.726681

—9.61068 + 7.917381

—1.186630 — 0.3552107
0.360998 — 0.0038031
0.988348 — 0.2229651

—3.44203 + 0.726681

—9.61068 — 7.917381

0.256965 + 0.6813251
0.565680 + 0.9935651
—1.41820 — 0.127361

—1.48009 — 1.366671

—10.72983 + 4.401791

0.256965 — 0.6813251
= 0.565680 — 0.9935651
—1.41820 + 0.127361

—1.48009 + 1.366671

—10.72983 — 4.401791

0.391610 + 1.2101407
= —0.57189 4 1.313841
0.308687 — 1.2249301

6.41512 — 6.306801

—3.61485 + 5.618971

0.391610 — 1.2101407
—0.57189 — 1.313841
0.308687 + 1.2249301

b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b
U
a
b

6.41512 + 6.306801

—3.61485 — 5.618971

0.57851 4+ 1.294171
—0.05089 — 1.593361
1.29294 + 0.674901

3.25113 — 12.932901

—6.73085 + 7.810311

0.57851 — 1.294171
—0.05089 + 1.593361

U
a
b
U
a=
b= 1.29294 —0.674901

3.25113 4 12.932901

—6.73085 — 7.810311




Solutions to I}

V=1(vol + y=1C)

Cusp shape

u = —0.357337
a= 1.03450
b= —0.304704

—0.695510

—14.4380




II. I¥ = (20020u'” — 48508u'® + - .. + 11959b — 19142, —16736u'” +
49970u'® 4 ... +11959a — 645, u'® — 3ul" + ... —2u + 1)

(i) Arc colorings

o ()

0
ag = u
1.39945u'" — 4.17844u'6 4 - .- + 1.61753u + 0.0539343
a3 = \ —1.67405u7 4+ 4.05619u6 + - .- — 1.50280u + 1.60064
1
ag = U2
—0.146501u'7 4 0.631491u'6 + - - - — 2.98386w + 4.22619
a7 = \ —0.318087u'" + 1.15194u'® + - .- — 0.807425u — 0.186972
—0.274605u'" — 0.122251u'6 + - .- +0.114725u + 1.65457
as = —1.67405u'” + 4.05619u'6 + - .. — 1.50280u + 1.60064
—3.02350u'” 4 9.06932u6 + ... — 5.85985u + 4.11447
a1 = \ —1.51769u'7 + 3.28171u¢ + - - - + 1.19801u + 0.319257
2.04465u'7 — 5.56234u'6 + - - - + 1.85467u — 1.18196
as = \ —0.318087u!7 + 1.15194u6 + - .- — 0.807425u — 0.186972
u
ag = \uyd+u
u
ag = \ud+u
(ii) Obstruction class = —1

35580, 17 _ 72112 ,16 R 57268 174278

(iii) Cusp Shapes = 1959 TTo5o U

11959 11959




(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1, €5, €7 u'® —3ulT 4~ 2u 1
Cs
C2,C4 (u® —u® —2u” + 3u8 +® — 3ut + 2u® —u +1)?
s (u® +u® + 20" + ub + 3u 4+ ut + 203 +u — 1)?
cs, Co u® =3 du+ 11




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,Cs5,C7 y18+11y17++14y2+1
Cs
c2, 4 (y? —5y® +12y" — 15y° + 9y° + y* — 4y® + 2y° +y — 1)?
€3 (y” +3y° + 8y" + 13y° + 17¢° + 17y* + 12¢° + 6y +y — 1)?
C6, Co Yyt 4+ Tyl 1260y + 121




(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ vV—1(vol +/=1C8S) Cusp shape
u = —0.131255 + 1.0255207
a= 221228 — 3.018551 2.09142 —12.65235 4+ 0.1
b= —0.825933
u = —0.131255 — 1.0255207
= 2.21228 + 3.018551 2.09142 —12.65235 + 0.1

b= —0.825933

u= 1.068960+ 0.1578111
a= 0.330746 + 0.1839371
b= 1.172470 — 0.5003831

—0.30826 + 7.084931

—9.57680 — 5.913351

u= 1.068960 — 0.1578111
= 0.330746 — 0.1839371
1.172470 + 0.5003831

—0.30826 — 7.084931

—9.57680 + 5.913351

= 0.255037 4 0.8611941
0.31995 + 1.699081
—1.173910 — 0.3915551

—1.08148 — 1.336171

—11.28409 4+ 0.701751

0.255037 — 0.8611941
= 0.31995 — 1.699081
—1.173910 + 0.3915551

—1.08148 + 1.336171

—11.28409 — 0.701751

—0.287150 + 1.1973601
= —0.077942 — 1.0122101
0.141484 + 0.7396681

2.67293 4 2.454421

—6.32792 — 2.912981

—0.287150 — 1.1973601
—0.077942 + 1.0122101
0.141484 — 0.7396681

2.67293 — 2.454421

—6.32792 + 2.912981

0.605058 + 1.1270801
0.639032 — 1.0481201
0.772920 + 0.5103511

5.07330 — 2.093371

—3.48501 + 4.162831

0.605058 — 1.1270807
= 0.639032 + 1.0481207
= 0.772920 — 0.5103511

>~ @ €|l & €| & 8| & €| & €|l & &>
Il

5.07330 + 2.093371

—3.48501 — 4.162831
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Solutions to I3

V=1(vol + y=1C)

Cusp shape

= 0.658024 + 0.0974311
= 0.910679 + 0.2153581
= 0.141484 — 0.7396681

2.67293 — 2.454421

—6.32792 + 2.912981

= 0.658024 — 0.0974311
0.910679 — 0.2153581
= 0.141484 + 0.7396681

2.67293 4 2.454421

—6.32792 — 2.912981

= —0.62758 4 1.280141
= 0.023182 + 1.2599101
= 1.172470 — 0.5003831

—0.30826 + 7.084931

—9.57680 — 5.913351

= —0.62758 — 1.280141
= 0.023182 — 1.2599101
1.172470 4 0.5003831

—0.30826 — 7.084931

—9.57680 + 5.913351

= 0.31006 + 1.398461
= —0.515395 + 0.3550091
= 0.772920 — 0.5103511

5.07330 + 2.093371

—3.48501 — 4.162831

= 0.31006 — 1.398461
= —0.515395 — 0.3550091
= 0.772920 + 0.5103511

5.07330 — 2.093371

—3.48501 + 4.162831

= —0.351155 + 0.305986.1
= 1.157480 — 0.2008451
= —1.173910 — 0.3915551

—1.08148 — 1.336171

—11.28409 4+ 0.701751

= —0.351155 — 0.3059861
= 1.157480 + 0.2008451
= —1.173910 + 0.3915551

—1.08148 4 1.336171

—11.28409 — 0.701751
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III. I} =(b+1, 2a+1, u—1)

(i) Arc colorings

o= (o)

ag =
az =

ag =

ag =
a; =

ayq =

(
(
(
o= (4
(
(
(
(

o= (3
e (3

(ii) Obstruction class =1

(iii) Cusp Shapes = —9.75
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C4,C8 u+1
c2,C5,C7 u—1
C3 u
C6 2(2u+1)
€9 2(2u—1)

13



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C4 y— 1
Cs5,C7,C8
C3 Yy
C6,C9 4(4y — 1)
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/=1CS) Cusp shape
u = 1.00000
a = —0.500000 —3.28987 —9.75000
b = —1.00000

15



IV. u-Polynomials

Crossings u-Polynomials at each crossing
(u+1)
c1,¢
b (M a0 4 30 4 6u® + Tu” + 1068 + 11u° + 9ut + 9uP + 3u + 3u+ 1)
(' = 3utT 4 —2u 1)
o (u—1)(u? —u® —2u" + 3u® +u® — 3u +2u® —u+1)?
(= 3uf +u® 4" — 208 — WP 10ut — 5ud — 16u? + 9u + 4)
c3 u(u® 4+ u® 4+ 2u” +u® 4+ 3u° +ut +2uP +u—1)2
S(utt = 3u' + - — 6u+8)
4 (u+ 1) (v —u® —2u" + 3u® +u® — 3u +2u® —u+1)?
(= 3uf +u® 4" — 208 — WP 10ut — 5ud — 16u? + 9u + 4)
(u—1)
C5, C
o (M 0 4 30 4 6u® 4 7T+ 10u® 4 1105 + 9ut + 9u® + 3u? + 3u + 1)
S = 3ulT 4 —2u 1)
6 42u+1)2utt +u' + - = 5u? + 1)
(' = 3w 4 44w+ 10)
co 42u — 1) (2utt +u' + - —5u? + 1)

C(u'® =3 4 du+11)
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V. Riley Polynomials

Crossings Riley Polynomials at each crossing
C1,Cs,C7 (y—1)
cs Sy 5yt 1190 + 8y — By T + 4Ty + 8Tyt + T3y + 2Ty + 3y — 1)

Sy 11yt T 4+ 147 4 1)

_— (y— D" —5y° +12y7 —15y° + 9° + y* — 4® + 2° +y — 1)?
(y" —6y"" + -+ 209y — 16)

cs y(y® + 3y% 4+ 8y" 4+ 13y + 179 + 17y* +12¢° + 63> + y — 1)?

Syt 43"+ 4 52y — 64)

cé, Co 16(4y — D)4yt — 0 4+ - 410y — 1)(y"® + 79" +--- + 1260y + 121)
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